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OZ2 &l 1,820
— EZ20HAHI 7,000& x13H 20 1,820
O=sAMI & 3,240
— A BES AL 135,000& =20 12& 3,240
O&xJ¢ 55,000& *1CHx12& 660
02 33294l 18,485 18,485
oRE2 150,000& *12& 1,800
OJIEtEa322 5,296
— &3 5,160
HAF - Al 400,000 *12& 4,800
SRS+ 10,000& x12& 120
=2SR= 20,000& x12& 240
—SENEREE S 136
ANES 43,000& *23] 86
Xk & 25,000& *1CH *x23] 50
OHZHl 6,849
— AIR A 1,300 x1.78 *8Al2t*30H =100 5,304
— = &4 1,300& *4.950 *8A| 2+*30L 1,545
OxsER X 22 4,150
— AEI2(ER) 3,450,000 *1CH 3,450
— 22 (XY ¥ AEHFE S)
350,000& =2CH 700
O XS XA = 30,0003 =1CH 30
MLEERSB 30,000& x12& 360
202 04| 37,700 37,700
01 2LHOHI 37,700 37,700
OZUW o bl 200,000& *13H x12& 31,200
O22 0yl 50,000& *13H *10 6,500
203 ¥R =AY 10,120 10, 120
010|229 6,600 6,600
OHE 6,600,000 6,600
02 HJAJPAHFFAH| 520 520
OFJAINNMAR =Y 40,000& =134 520
04 ENSIHRF=AY| 3,000 3,000
OFN2IIRF&Y| 250,000& x12& 3,000




